Q. 1

You are currently creating a Lisrel syntax for a six-indicator two-factor oblique factor analysis model. What is the size of the parameter matrix for this model? 

A) [6 x 1]

B) [9 x 3]

C) [3 x 9]

D) [6 x 2] correct

E) [3 x 3]
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Q. 2

Based on the model presented above, calculate the number of non-redundant  elements of the implied covariance matrix.

A) 18.5

B) 21 correct

C) 6

D) 37

E) 7 

Q. 3

Implementing a factor model, using the Normal Theory Weighted Least Squares (NTWLS) method of estimation in Lisrel, you observe the following lines in the output file:

Degrees of Freedom = 87
Normal Theory Weighted Least Squares Chi-Square = 213.26 (P = 0.00)
Minimum Fit Function Value = 0.085
What is the number of observations?

Approximately

A) 100

B) 2000

C) 2510 correct

D) 1000

E) 2900
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